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Instructions

= Answer ALL questions. Write your answers in the spaces provided.
*  Show your working to get marks. You may use a non-programmable scientific calculator.

Question 1
CLO02,C3 [5 marks]

Use Kruskal’s algorithm to solve the minimum cost spanning tree on the following graph:

Question 2

CLO2, C3 ¢ [5 marks]
Is this bipartite graph? Explain your answer. \ /
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Instructions
» Answer ALL questions. Write your answers in the spaces provided.
* Show your working to get marks. You may use a non-programmable scientific calculator.

Question 1 -
CLO2,C3 [5 marks]

Use Kruskal's algorithm to solve the minimum cost spanning tree on the following graph:
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Question 2 Z
CLO2;C3 : [5 marks]
Is this bipartite graph? Explain your answer.
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Instructions
= Answer ALL questions. Write your answers in the spaces provided.
= Show your working to get marks. You may use a non-programmable scientific calculator.

Question 1 -
CLO2,C3 [5 marks]

Use Kruskal's algorithm to solve the minimum cost spanning tree on the following graph:
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Question 2
CLO2,C3 : ; [5 marks]
Is this bipartite graph? Explain your answer.
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* Answer ALL questions. Write your answers in the spaces provided.
= Show your working to get marks. You may use a non-programmable scientific calculatoe—"_

Question 1

CLO2,C3 [5 marks]
Use Kruskal’s algorithm to solve the minimum cost spanning tree on the following graph:
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Question 2
CLO2, C3 g [5 marks]
Is this bipartite graph? Explain your answer. Vi Vv, v3d :
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Instructions

Question 1
CLOZ,C3
Use Kruskal’s algorithm to solve the minimum cost spanning tree on the following graph:

Answer ALL questions. Write your answers in the spaces provided.
Show your working to get marks. You may use a non-programmable scientific calculator.
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[5 marks]

Question 2
CLO2,C3
Is this bipartite graph? Explain your answer.
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Instructions U

= Answer ALL questions. Write your answers in the spaces provided.
*  Show your working to get marks. You may use a non-programmable scientific calculator.

Question 1 X ?(_/
CLO2,C3 [5 marks]

Use Kruskal's algorithm to solve the minimum cost spanning tree on the foll&wing graph:
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Question 2

CLO2,C3

Is this bipartite graph? Explain your answer.
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Instructions

Question 1
CLO2,C3
Use Kruskal’s algorithm to solve the minimum cost spanning tree on the following graph:

Answer ALL questions. Write your answers in the spaces provided.
Show your working to get marks. You may use a non-programmable scientific calculator.

[5 marks]

Question 2
CLO2,C3 [5 marks]
[s this bipartite graph? Explain your answer.
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Instructions

= Answer ALL questions. Write your answers in the spaces provided.
*  Show your working to get marks. You may use a non-programmable scientific calculator. -

Question 1 :
CLO2,C3 [5 marks]
Use Kruskal’s algorithm to solve the minimum cost spanning tree on the following graph:
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Question 2
CLO2,C3 [5 marks]
Is this bipartite graph? Explain your answer.
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Instructions
» Answer ALL questions. Write your answers in the spaces provided.
*  Show your working to get marks. You may use a non-programmable scientific calculator.

Question 1 :
CLO2,C3 [5 marks]

Use Kruskal’s algorithm to solve the minimum cost spanning tree on the following graph:
’ ,',_35 . -

Question 2 -
CLOZ2,C3 [5 marks]

Is this bipartite graph? Explain your answer.
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